asym_bcm_an_us Integrated Convergence
x107°

-
3
|

asym _bcm_ak us
= :
T

0.03 N

0.02 — o

O — I S T — s

0 1000 2000 3000 4000 5000 6000 7000
Pattern Number

-
)

asym, bcm_ag, ds
-
N

0.03

0.02

0.01

asym_bcm_an_ds Integrated Convergence

i<1 0

0 1000 2000 3000 4000 5000 6000 7000

Pattern Number

run8001 000 integrated convergence analog bcm.png




diff_bpm4aX Integrated Convergence diff_bpm4aY Integrated Convergence

x107°
0005_ .........................................................................................................................................................................................................................................................................................................
% B >q—505__ _________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
< B < B
& B - _
Q ) R S S S — Q. =
fl - f|04__ ___________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
5 ~ 0"..'11 o ® oo *® S L
T T N U N VO FUU MU (N O N N — ® oo u
3.0005_ 03| b
| ® -
B * B
_0001__ ________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________ 02:_ ........... R
B * o ® - @
B ~ ®
30015:_. """"""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""" 01__ _________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
_0_002__ ___________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________ B
- 0__ _____________________________________ ® | . ________ ® e & . _________________________________________________________________________________________
B = * g ® ¢
| | ® | ® ® ® ® !
:)0025:_ ..................................................................................................................................................................................................................................................................................................... _01__ ................................................................................................................................................................ ......................................................................................................................
—0.003:— """"""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""" _0_2:_ _________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
_IIII‘IIII‘IIII‘I|||‘II||‘||||‘|||I||||| _I||I‘||||‘||||‘IIII‘IIII‘IIII|||||‘||||
0 1000 2000 3000 4000 5000 6000 7000 0 1000 2000 3000 4000 5000 6000 7000
. Pattern Number Pattern Number
run8001_000_|ntegrated_convergence_%pm4aX_bpm4aY.png



diff_bpm4eX Integrated Convergence diff_bpm4eY Integrated Convergence

x107°
< B > [
D | ) |
I B <
g B e |
QI 0_— ------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------ B S R A _8]04__ ____________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
Ié E ¢ ® e ® ? ® 9o o ® ® o o ©® % :
0.0005 [ | o ) o3| |
| ® |
- * -
—0.001:— ------------ . ------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------ 0 _2:_‘ _________ A ——————.—.-,
| [ ] ® |
__.. .............................................................................................................................................................................................................................................................................................. : ®
3'0015: 01__ __________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
_0002__ ___________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________ B
: 0__ ...................................... @ e . ..................... & e o & . ........ . .........................................................................................
B : ® o ® ® » ® o !
30025_ ..................................................................................................................................................................................................................................................................................................... B ®
B _01__ ________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
_0003:_ _________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________ E
I e e e T 02 g b o o g gy Loy Loy
0 1000 2000 3000 4000 5000 6000 7000 0 1000 2000 3000 4000 5000 6000 7000
. Pattern Number Pattern Number
run8001_000_|ntegrated_convergence_%pm4eX_bpm4eY.png



asym_sam?2 Integrated Convergence
x107°

O

~ asym_samz2

N

0.3

0.2

0.1

0 1000 2000 3000 4000 5000 6000 7000
Pattern Number

asym_samo6
o

—-0.05

-0.15

-0.2

asym_sameé Integrated Convergence
x107°

0 1000 2000 3000 4000 5000 6000 7000

Pattern Number

run8001 000 integrated convergence sam2 samb6.png




0.2

0.1

asym_sam4 Integrated Convergence
x107°

0 1000 2000 3000 4000 5000 6000 7000

Pattern Number

o asym s&am8
: o
Qo

-
o)

0.04

0.02

0

asym_sama8 Integrated Convergence

x10™°

run8001 000 integrated convergence sam4 sam8.png

1000 2000 3000 4000 5000 6000 7000

Pattern Number




asym_sam1 Integrated Convergence

o asym_gsamf
' -
S
T ‘

-
o
T

0 02 e . .................................... L

0.01

o
|

-0.01—

0 1000 2000 3000 4000 5000 6000 7000
Pattern Number

O
W

asym_sam3
N
O

O
N

0.15

0.1

0.05

0

x10™°

asym_sama3 Integrated Convergence

run8001 000 integrated convergence sam1 sam3.png

1000 2000 3000 4000 5000 6000 7000

Pattern Number




asym_samb Integrated Convergence

asym_sam? Integrated Convergence

x10™° %1073
Lg)os_ _________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________ I“é I
(T = O
7)) 7)) —
E| B E|0 e
= | =, |
n n B
'-'5004_ ___________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________ © I
- () L8 ||
| ® |
002— || 006 |l
| e e | @ "
| B ®
T ] o | ®
— . | T o | 0.04 || _______________________________________________________________________________________________________________________________________________________________________________________________________________
0__ _____________ e . _____________________ . ________ ® . ________ . ______________________________________________________________ e - o __
! ® | o IBEX - ]!
B " ® | “ ® 9 ® 0.02 || [ N T N A o | D e —
B ® | | ! = ..0 ..00 ...‘.
_0 02 I SO DO SO S — e e B R | E— :
: ) ]
_||||‘||||‘||||‘||||‘||||‘||||‘||||||||| :I||I‘||||‘I|||‘III|‘||||‘||II|||||‘||||

0 1000 2000 3000 4000 5000 6000 7000 0 1000 2000 3000 4000 5000 6000 7000

run8001 000 integ rated_convg?uﬁgnNggieéams_sam7.png

Pattern Number




asym_usl Integrated Convergence asym_usr Integrated Convergence

B x10™° x107°
@25_ _________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________ E B
| B | -
:E:.., ~ ; 0 1__ ____________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
7 L 7
(D B
i 005__ ___________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
0.15 I T 0 :— --------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------
@ B ®
- " o ® O ® o I s o ¢
- o _005__ ___________________________________________________________________________________________________________________ ® | Yo & ®e ® | |
) I - @ ¢ o ®
B ® B
B _0_1______ _______________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
i _ ®
0.05 B o Oy e | —0.15 I N T R
i oo | ® -
B : ® —
oL LT . ........ . ........ ‘N L ® 0o . ........ ¢ .y 2:_ ...................................................................................................................................................................................................................................................................................................
B —0.25 :_ ....................................................................................................................................................................................................................................................................................................
—0.05 -t b bbb N T T
0 1000 2000 3000 4000 5000 6000 7000 0 1000 2000 3000 4000 5000 6000 7000
Pattern Number Pattern Number

run8001 000 integrated convergence usl usr.png



asym_dsl Integrated Convergence asym_dsr Integrated Convergence

B 3<1045 x107°
N B - -
'C5|-|5__ _________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________ 'C}I -
- B B
% : %03_ .......................................................................................................................................................................................................................................................................................................
© 10__ .................................................................................................................................................................................................................................................................................................... © :
5 :_ __________________________________________________________________________________ ———— — o T T R 0.02 —|ffo ® | e e
- IO P K ® . I I ®
0_ .................................................................................................................... . ........ . ........ . ............................................................................................................................... B & ] T T T T T
B o __ o | ..
-4 ® ¢ © 001__ _______________________________________ o A R R S R e — _________________________
T O T S T T T T _ ¢ . K 2 2 I PN “
| | ® e ®
B o © i o ®
B ® " N - N N T N N e
_10__ ________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________ 0_
_1 I T O =
5: I T [ e
_20:_ _________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________ :
_IIII‘|||I‘|||I‘I|||‘II||‘||||‘|||I||||| _IIII‘II||‘IIII‘IIII‘||||‘||II|||||‘||||
0 1000 2000 3000 4000 5000 6000 7000 0 1000 2000 3000 4000 5000 6000 7000
Pattern Number Pattern Number

run8001 000 integrated convergence dsl dsr.png



